
DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and use of Rally Innova�ons products. Rally Innova�ons products are sold as decora�ve accessories and should 
not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system (air bag) deployed by impact should not be modified by any a�ermarket 
Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech Automo�ve assumes no liability for injury, loss, or incidental or consequen�al damages in the event of a collision 
or roll over.  Rev. 03/21 

 

  
MAKE:  SUBARU 

MODEL 
 

1993-2001 Impreza RS  
  

PART: Rally Light Bar 

    
PACKAGE CONTENTS TOOLS 

QTY    QTY    Ratchet  
1 Rally Light Bar 6  3/8” Nut  9/16” Wrench 
2 Moun�ng Brace 2 5/16” Bolt Plate 9/16” Socket  
1 License           bracket 2 5/16” Flat Washer 1/2" Wrench 
2 M8 x25mm Hex Bolt 2 5/16” Lock Washer  1/2" Socket 
2 3/8”- 16 x 1” Hex Bolt  2 5/16” Nut 15mm Socket 
2 3/8”- 16 x 1.5” Hex Bolt  2 Nylon Spacer - 3/8” long  
2 3/8”- 16 x 1 ¾” Hex Bolt  2 1/4” x1” Lag Screw  
4 3/8” Split Lock Washer  2 *Nylon Spacer - 3/4” long  

12  3/8” Flat Washer  2 *1/4” x1.5” Long Lag Screw              *=Addendum See Page 2  
 

INSTALLATION INSTRUCTIONS 
 

 
  

 

A�ach (1) fog/driving light base to the light bar using (1) 3/8”-
16x 1 ¾” hex bolt and (1) 3/8” nut, per side. (PIAA light 
bracket shown, not included) 

 

A�ach the moun�ng bracket to the car using the M8-1.25 x 
25mm bolt, and (1) 5/16 flat washer, (1) 5/16 lock washer, and (1) 
5/16 nut fastened on the bolt plate. 

 

 

A�ach the license plate bracket on the front of the bumper 
with the factory license plate screws (or provided 1” screws) 

Note: 1998 Impreza Bumper Shown (See Page 2 for Addendum) 

 

Locate the two holes in the lower radiator support, and place 
the 5/16” bolt plate into the non-threaded hole [Passenger 
side shown] 1 2 

3 4 

Passenger side shown 
Front of Vehicle 

Bolt Plate 

QTY
2 1/4”  Washer



  Rev. 03/21 

 

  

 

 

 

 

 

 

 

 

 

 

Addendum: Light Bar Installa�on Instruc�ons - License Plate Fastener 

MODEL: 1999-2001 Impreza 2.5RS (Ver. 6 Bumper) 

 

A nylon spacer and longer license plate screw is required for the version 6 bumper for correct fitment. 
The nylon spacer will sandwich between the license plate bracket and the bumper as shown.  
 

 

 

A�ach the rally light bar using (1) 3/8”-16 x 1.5” bolt, (1) 3/8” 
nylon spacer, (2) 3/8” flat washer, (1) 3/8” lock washer, and 
(1) 3/8” nut on each tab. Note: Assemble loosely to allow 
adjustments. 

Note: 1998 Impreza Bumper Shown 

 

 

A�ach the light bar to moun�ng bracket using  (1) 3/8”-16x 1” 
hex bolt, (2) 3/8” flat washer, (1) 3/8” lock washer, and (1) 
3/8” nut for each side. Note: Tighten all 3/8” bolt to 32 �-lbs. 
Tighten M8 bolt to 19 �-lbs. 

 
5 6

a 

3/4” Spacer 1/4” x1.5” Lag Screw


